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Intro
Today we will 7"pa learn 1”13 97 of mina’ nomn.

The topics we will learn about include D .

o we believe a person
Do we believe a person who says he is a 7»? . p
Do we believe a person who says that his M) was not Who S a_ys he 1S a 'IJ?
valid?

A lengthy X792 that describes the whole process of 7

Do we believe a person
who says that his maa
was not valid?

The Process of N17°)

A nponn if an 39mwn T2 that is becoming a 535 Sxw»
1727 needs to be mxn 5w Hapn

TN 131937 7N 2 A npvnn if an TMmwn T2y

The word 72 teaches
53733 7 WD DR ORI

A person is believed to identify one of his sons as the tha.t ].S bEComll’lg a 'JN'II’J’
first-born.
needs to be men Sy Yapn
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So let's review

Our Daf continues with the discussion of m~x:
127N

The p1oo says;

MR NN R DIZIRD T IR I 090

From which the Braisa derives several Halachos.
IR ) ORI RV D

Ipapibiey

If a person came and said “I'm a 7»“

Do we accept him at his word?

IR 5 TSN

P pimma

The word nx teaches that we must verify it.

PIIY PTVINI

Do we accept him if he came with o7v?

TP 3 W2 TN

The nmn does not put any restrictions on accepting a .
The Gemara asks:

Obviously, we don’t need this Posuk to teach us that we
accept the testimony of witnesses?

nww 17 explains;

1150 SV 1T M22 TNV LYPY MIDRT

We heard that he converted before a certain Bais Din.
They are only reporting something that they heard. They
are not testifying to something they witnessed first-hand.
Therefore we need the 7109 to teach us that we accept the
M.

The Braisa continues:

The Posuk says DoxIx2a

PIR2 ROR D PR

PIn PIRY AXIN2

IR D TN

Y oumay accept a 13 wherever you are, even outside Eretz
Yisroel.

The Gemara asks

PIROR R

We have already derived one Halachah from 7nx, thata 7
needs proof of his m»?

How can we learn a 2nd teaching from Jnx?

Therefore, the Gemara amends the source:

INRND RIN

IOV RTM

As Rashi cites another Posuk;

OV M AWM N

From 70X we learn that a 93 needs proof.

From qmp we learn that we accept 0™ even in pIR? 731
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The X172 concludes
D3N2I TSN M D OR
AT 17 says

PRI NI IR PIN

The word box9x1 teaches that in Eretz Yisroel proof IS required,

because we are concerned that

PPIRP HRIW? PIRT RM2D DD

He is claiming to be a 7 in order to benefit from the favorable
position of j7R in Eretz Yisroel. However,

PRI NI IR PR PIRD ARIN2

In y3x5 n3in proof is NOT required, because this concern does not

apply, since the status of the Jews is not that good.

And the onon say

PRI RID PIR PIRD XA PPN P2

Proof'is always required.

According to the o»>n we learn from 033982

D2 D90 PIRTIDORT

Even in SR’ yIR we accept D7)

MPHIRR HRIY? PIRT RM2VL DIWD R"TOT

5p

We are not concerned that he wants to become a 7 in order to
benefit from the favorable position of j7X in Eretz Yisroel.
The 3 concludes that the 751 is like the owon

PRI NIND PIV PIRD AXIN PAPINI P
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The Gemara proceeds with the following Braisa regarding
mx

"N

The Posuk says;

T P2 POR P VR P PTR DNVOW)

AT 727 IR JRIOD

WA TPV N

TPIPRIMIY P> 3

The word onvow teaches that M~ must be done before a
17 ™3, and cannot be done privately.

The X2 proceeds to discuss a case where a 7'~ claimed
that he was an invalid

MR AT 127 °305 RIW TR VYD

MY P22 NN

I had converted privately, not before a 7 2.

DY 10 W AT 3719 IR

Do you have witnesses to that effect?

RS 7Y IR

He answered in the negative.

Rebbe Yehuda asked him;

s}l PRUY

Do you have children?

70 IR

He answered in the positive.

Upon which 77 27 told him;

IR NIR D095 AR RIS MR

You are believed to disqualify yourself; that you are an
invalid 72 - as Tosfos explain - based on

RINORT 12NN PUOIR PNW

For example, he will not be allowed to marry a >Xyw na.
However,

732 IR 51095 11RI ANR R

You are not believed to disqualify your children - They
will continue to be considered valid j7°x.

The 83 challenges this;

iaknts) 15 IR 7T 727 IR D)

RInm

The Braisa cites the ;09 regarding a 151 receiving two
shares of his father’s nwry

P ARNWA A0 NNRD

The word 7> teaches

DR NP

He shall make him known to others.

AT 727 IR RO

NI2732 7 M5 DTN ORI

A person is believed to identify one of his sons as the
first-born.

MNO133 T I PRIV DWIY

RIFTARI9M 12 IR R T012 12 7932 9009 19R1 32

A father is likewise believed to identify one son as
disqualified, as a 55m.

This Braisa clearly contradicts the earlier quoted opinion
of Rebbe Yehuda that he is NOT believed to disqualify his
children?
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The word TTODR teackes that 12k
must be dome é%or& @z, and not /&rwafe%/
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He shall make him
brown to others.
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The X2 presents 2 answers

One -

PR 92 JPM 27 IR

The second Braisa is speaking of a valid 7R, who is indeed
believed to disqualify his son. However, in the first Braisa
A 27 was telling him

AR D)2 T2 73T

0291 725 MY PR

According to your words, you are a non-Jew, who is
Halachically not a valid witness.

The second answer is;

IR R

Rebbe Yehuda, in the first Braisa, actually asked him
onPw

n

DY

n

Whether he had grandchildren - and therefore ruled;
73251005 ANR PRI B IR

732232 51095 BRI ANR N

You are believed to disqualify your children - as taught in
the second Braisa - because the Posuk of 7> speaks only
of one’s children - but you are NOT believed to disqualify
your grandchildren - for which we have no source in the
Torah.

The x93 concludes:

PIX’ 92 11573 237 PIND RN

We rule like the first answer in the above case of M), that
he is not believed even regarding his son, because
according to his words he is a " who is not m7v5 w2,

As Rashi explains;

021913 TIWH MY PRT

RP2IT IO RINDM

WITR T PIVY RN

We rule like the second answer in the case of 121 w13 12
nx15m, that he is believed regarding his son, but he’s not
believed regarding his grandchildren.

As Rashi explains;

122 5V MPHRA AN

131250 RN

DafHachaim.org

PN 92 1M1 29 9N

The first Braisa
NI 1) was saying
NNR 02210 T2 PI2TH

The second Braisa
is speaking of a TN,
who is indeed
believed to
disqualify his son.

02210 7219 MTY PR
According to you,
you are a non-Jew, who is
not a valid witness.

AN NI'29

Rebbe Yehuda, in the first Braisa,
actually asked him
N -0Mmh Y
10 - 022222 75 W
Therefore Rav Yehuda ruled;
7722 10D NNR NN
7722 712 91099 PRI NNR XY

Yow are not believed to /’%ML% your grandehildren
%ar which we have no source: in the Torah

PPIXY 93 M) 297 NS NNSY @
he i not believed even regar/‘z/u}ywm

because according to his wordy
who iy not /;/9}//7&
1313 5D H5 — 13 DY MMNHD OMHO

'Wa/f//c
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The x) proceeds to present a lengthy xn>92 that teaches
the process of m:

7 P2 700D R2W 92132710

In today’s times, if a non-Jew seeks to convert;

07D IRIW PRI D 1 DR

We tell him: Why do you want to convert? We discourage
him by saying;

A P11 HRIW W VTP ANR R

POV DOIND D'OINT ONT

DIPOY PRI PION

Aren't you aware that the Jews are afflicted and
oppressed, and great pain is inflicted upon them?
RTIOPRIVIR VTP MR DR

And as Rashi adds;

995 79RI I M

Ifhe says; I am aware of all that, and I am presently not
worthy to join them - nevertheless, if only I were worthy
to join the Jewish People.

TR PHIPN

We accept him, and begin the process by informing him
of 3 things:

IR PYTI

mop mx» NIPH

MR MED N3P

We tell him about some of the less, and more stringent
Mitzvos.

The X explains that we do all this to dissuade a 7,
because, as 1251 °27 said;

nnovI SRIWS N DWp

The attachment of 73 is harmful to SR3w> 55a.

The X192 continues,

MR Y1), And, we inform him of

IV WY RO ANDW D|777 1%

The x93 explains, we tell him this because

O MW MO Y 31 M 121

A nijais concerned about even a minute financial loss -
and informing him of mx» in which he must give away
some of his money might deter him from becoming a 7.
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M TMINAD X3RN — 132730
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'R NN
99NN NRAY

DTN PIT2 HRIVIW YT NNR X
1°57MVNI - DYOIND - DDINT - DIMNT

IRTI MNR) - R YTV
9% NOTRI 1N M

mMHYp MEN NXPN MR PYITIDY
MMHN MmN NXPN

We dy all thiy tv disswade o %
because 15/ 159 said
NNDDD HYRIVY 03 DOV

1) TWYNI NRDI NNOW VPH NY
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The xn>12 continues:

IR YT

men S wI

We inform him of the punishments for transgressing
some of the Mitzvos - such as 072 for 2351 N5, or 1YH0
for naw m>n, in which he is not obligated now, as a
non-Jew.

mEn 5w JWIV MR PYTINY DU

190 DI PYTIN I

We also inform him of the great reward awaiting a 7% in
x27 09, although the 77X cannot receive much reward or

punishment in 71377 0.
However,

POV PAM PR

YOV PRIRPTIN PR

We do not overwhelm him too much with the difficulties

inbeing a TR
And we don’t go into all the details of the mabn

The X2 points out that we learn this from the way "3
dealt with m, where it says;

POR 9275 570 AR 1055 R0 NRHRAD 22 RIM

Once Naomi saw that 17 was determined and sincere
about M7, she stopped dissuading her.

The xn>»12 continues;

S

TRIMR PO

Ifhe accepts it all, we perform a proper 7> as soon as
possible, because

PO KD RN N

A Mitzvah is not delayed.

ROIM3

TRIMR PO20D

Once he heals we perform the immersion immediately:
12 5p DT OIn bR W)

And as the X913 amends the Braisa to say nwbw; three
oo bn oversee the n5°av, since a Bais Din of 3
people is required for ms.

IR YT

mop MX» 03PN

N MRD NIPH)

As Rashi explains;

1920 ") RNWAT

m73 5555 o123 NN

mMEH N30 NYwa 150

mEn 5 PHY Sapb 7R

Since n>av is the conclusion of the M), he must once
again accept upon himself the yoke of Mitzvos.

o v

1727 595 SR R I0

And with that, he’s a full-fledged 7.
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men HW Jway

MXN YV VIV MR PY>TINY DWI)
175V 1NN MR PYITID PP
We abso m%orm/wwo%?%& ?reaf reward
awmfwz?/ @ /)/93’ D7D /o[}/

19 PRPTRPTN PR - 179Y 1290 PR
We do not overwhelbm him too mach
with the difficalties in being a 54

And we don’t 40 inty all the detaily o% the, si>/o

We learn ?%JA//VOM MY and r>;

RN NYPXRNN D RIM
MOR 7275 5TNM ANKR NdYH

RDIN) 92°p
TN IMR PP2VN TN IMR PO
oD Zpn 1Y)
/E fﬁ’?///}’

M%p MXN NP MR PY*TIN
MMNN MEN NRPH

1792 5555 P9) HID DBV Y'Y PPHEDT
DN D 1Y D3PS 7993 DN HXI3Y HYES o5

WIN YDl
V4 &/

nY» Hav
17727 939 HRIWD RIN N
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Before we proceed with the next ruling of the Braisa, it
would be helpful to review that which we learned in the
previous Daf'that the m) of an 99mwn» 72v occurs over a
two-step process.

Initially, when he becomes an *3v1> 72 he must undergo
mMTIY DWH n5°av, to achieve the status of 3030 72v - who is
not completely a 7R - He is nwxd mz»2 2mm», but cannot
marry a SR’ na.

If, and when he is emancipated, he must undergo another
PIn A oWy Iav

And he becomes a full-fledged 7x - He’s now 27 in
ALL nnxp, and he can marry a SX7w’ na.

Now, let's proceed with the conclusion of the Braisa:
IV T2V TR N TR

The earlier described process of m773 must be followed by
both a 73, AND an 79mwn 72p.

This Braisa holds,

mEn W Haph 7% mwn 72v

However, the Gemara cites a Braisa which clearly states;
PWADTIPR 0727 I3

TIMwn 7T2v1 5IR

5375 I3 PR

The Xy answers

DWW 273 IDR

WP RS

This is actually a Machlokes;

The 1st X792 is the opinion of the o»om, and
The 2nd X712 is the opinion of TTYYX 12 PYPW 227

In the next q7 the X will elaborate on this Machlokes
and their sources.
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The m»2 of an »Mw» Tav occurs
over a two-step process

1 p

When he becomes
an i> T2 he
must undergo
mT2Yy DWY N2V
Heis then 2mn»
NWNRD NMIND2,
but may not marry
abzw N2

He must later
undergo another
1IN 12 oY D20
to become a
full-fledged TN
Heis then2mnp in
all onxn, and he may
marry a 58w n2

MR T3P AN - 30N

Andther Braisa holdy,
26> PIUME PIIRT DM
290/EN ZY5 £A’
hpl o pe

290/0 FY -
Y/ [}/ 6‘)/7’737

DY 29 9N
NP N
ovaon NP 439

phN a
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